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Dear parenUGuardian,

Please slgn the Weighted Assessment paper and have your child/ward return it
the nextday. Any query should be raised at the same time when returning the
paPer.

Section A:illultiple Ghoice Questions (10 marksl

For each question from 1 to 5, four options (1, 2, 3 and 4) are given. One of them is fhe
correct answer. lndicate your choiceinthe brackets provided.

1. Which statement about light is incorrect?

(l) Light is a form of energY.
(2) Light travels in a straightline.
(3) A shadow is formed because light is reflected.

t4l A table can be seen because it reflects litlht into our eyes.
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?. A metal pole and a torch were placed on a table as shown in the diagram
below. metalpole

torch

table

Which of the following diagrams conectly shows the shadow of the pole on

the table top?

(1) (2)

(3) (4)
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3. Mary set up an experiment using a light sensor to measure he amount of
lighipassi;g through dffierent materials. The set-up shown below is placed in

a dark room.

She measured the amountof light passing through materials P, Q and R. The
table below shows the recorded results on the datalogger.

Material
Amount of light

detected
(units)

P 100

o 40

R 0

Wtrich of the following best represents materials P, Q and R?

(1)

(2)

(3)

(4)

Material P Material Q Material R

clear plastic cardboard paper
cardboard paper clear plastic

clear plastic paper cardboard
paper cardboard clear plastic
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4. Wtrictr of fre following statements about the plant parts is correct?

Stem
(1)

(2)

(3)

(4)

5.

()

Jane grew a plant shown in the diagram below. She placed it in a box with a
small opening. A few days after the plant has been placed in the box, it was
observed to lean towards the opening of the box.

Based on the diagram, which of the following statements is conect?

(1)
(2)
(3)
(4)

The plant bends to absorb more water.
The plant bends as ithas a weak stem,
The plant bends due to a lack of space.
The plant bends to grow towards the light.
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Section B: onen-EndedQuestions (5 marks)

For guestrbns 6 and T, fiilin your ansgers in the spaces provided.

6. The set-up betow is ulpd 1o.t11stigate how distance

and objeci Xwill affectthe height bf the shadow cast.

ObjectX

Height
ot

Distance

light source screen

The distance between object X and the light source was changed a few times
and he height of the shadow was measured and recorded in the table shown
belou.

Distance betrreen oblect X
and the light source

(cm)

Height of shadow
(cm)

25

13 17

20 10

25 z

(a) Based on the results above, state a possible value for z. t1I

(b) Based on the aim of the expefirnent, state the changed variable. t1I

Based on he results, what is the relationship between the distance
between object X and the light source and the height of the shadow? t1l

cm

(c)
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7 Benjarnin set up an experiment using the following set-uPS, X, Y and Z as shown
in thediagram below.

Plant
beaker

water

set-up X set-up Y set-upZ

He used the same type of plant in each set-up and gave the same amount of
water at the start of the experiment. After two days, he realised that the amount
of water in each setup was different.

(a) ln which set-up will there be the most amount of water left in the beaker?

t1I

(b) ExPlain Your answer in (a). tll
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Qn No Acceptable Answers
6a,

6b.

6C.

lcmto lOcm

Distance between object X and the light source

The further the distance between object X and the light source, the shorter the height
of the shadow.

7a.

7b.

z

Z hadthe least amount of roots which will absorb the least amount of water.
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